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We three were in session together, and one is missing

OVERVIEW

The X723 states that if one of the three 0°17 passed away before he had an
opportunity to sign the 917, it should be noted in the 9173 that initially there
were three 0°1"7 and only two are signing because one is absent. The reason
for this 1s that people should not mistakenly assume that m7vw o1pP can be
performed in the presence of only two; when in reality three 2°17 are
required. Moon will discuss that this requirement is only 7rn2% and not
7aY°72.
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The explanation of the phrase 'an>nb 1°>%' is that it is merely initially

necessary to write ‘and one is missing’; the reason for this necessity is -
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Since it is was explicitly written that ‘we three were in session’, and only

two signed on the po17; therefore it is necessary to clarify this discrepancy, that there

were initially three 0°17 (which is a requirement for MY orp)? -
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However if he did not write ‘and one is absent’ it is certainly =w>. The
requirement to write “mn°> 7MY is only a 7%1N5? requirement; if it was not written in the
orp, the P is nevertheless w>.

mooIn proves this contention:
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You will know that this is correct; since the X7») states ‘and if he wrote in
the poin that it was done in the presence of a 7''53, then nothing else is
required’. This ruling that nothing else is required is (also’) referring
(even) to a case where he did not write ' 7m', and nevertheless it is qw>.

" The term '"w17°2" in (""w) Moo (usually) denotes that the interpretation may be somewhat different from
what we may have initially assumed; in our case that this 21n3% 7% is 20y even 12372,

*In w"X77 MooN the text reads: “mn*> 7m 21N2% 0 2101 R,

? Alternately; the TWw% of 901N which states 121 Xnn am»a X*772 2027 7', indicates that if only two sign it
s a RIPWD *1min. See 7XV MR N"n 2",

* The simple meaning of 1% X7 I is that it is not necessary to write X177 Xnon 2nm3a. However moon
expands this to include that it is not necessary to write “mn>? 7',
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It is obvious that that the phrase of "mn°2 7m' is only a 7%1n>% requirement.

moon will prove that the ruling of '7°7% X7 10 X1°7 °2 121 °RY' is discussing a case where 7nY'
“mn°% was not written:
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Since the X 3 asks (why is it sufficient to write X1°7 2 instead of 2nM2
Xn°n, to assure us that three were present for the 0w ovp), ‘perhaps it was

an audacious 7''32? (which sits in session with only two 2°>7)’. This question proves
that 70> 7m' was not written in the 2177, For if "mn> 7m' would be written in the poi7,
then how can there be a concern that it was a m1¥r 7"3; two people signed and they
clearly wrote >mn°> 7, indicating that there were three 2°37 originally. This proves that
the ruling of "% X2 10 R17 °2' is applicable even if “mn> Tm' was omitted; for it is not
necessary that it be in the "vw. The same will apply if they wrote X177 Xnn ann1a and
they did not write >mn>% 7m, that it would also be (72v°72) “Ww>.

SUMMARY
The requirement to write "2 7mM' (if one of the avp 17 dies before
signing) is only 711n>% and not 72¥°72.

THINKING IT OVER
1. Why did not the %nnnn 27 of this Moown begin with 'anon% 1oy,
instead of 191 Xn%n anNa?!

2. mdoIN contends that since by R1°7 °2 it is w2 even without "mn*% 1Y, the
same applies by Xn?n anw3a. Perhaps there is a difference if X1°7 2 was
written or if Xn%n anma was written?!’

3. In a case where XI’7 2 was written, is it necessary to write “mn°? T’
(even) 7onn39?°

> See (W127) R"wIAR [not the TR K"wAAN].
® See ' MR TR R"wN.
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